Here it is, a step by step would be so much appreciated. I think it’s meant to be fairly simple. Our professor is just not a good teacher.
Anyway, here’s the problem,

Consider a string under a tension T, mass density ρ with a pulse
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propagating with a speed c. Calculate the kinetic and potential energy in the pulse. Assume the string is real long, really, really, really long, like it stretches from 
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(Hint: If you are doing the problem correctly you will need the integral
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 at some point in your calculation.

The parameters are any givens m, g, L, etc…
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